
Page 1 of 2 

 

 

Illustrated Parts & 
Packing List 

528 Gandrud Road, Owatonna, MN 55060 

For a complete distributor & dealer list go to www.gandy.net 
 

09105D 
Ro-Bander 5-inch 

(All Hardware in Hardware Bag Unless Otherwise Specified) 
 

One Carton Containing The Following: 
 

1 .......................... 0906949 ............................ Ro-Bander 5-inch 

1 .......................... 0906949-3 ........................ Cover, 5-inch Ro-Bander 

  Use: 1 Decal, Ro-Bander (N02-0009-040) (in Place) 

   2 Pan Hd Sheet Metal Screws (#10 x 1-1/2) (C08-0187-150) 

 

 

1 .......................... 09H107D .......................... Hardware Bag Containing: 

 1 ................... C01-0375-010 .................. Hex Nut (3/8) 

 1 ................... C02-0375-010 .................. Lock Washer (3/8) 

 1 ................... C02-0500-040 .................. Shake Proof Washer Ext Tooth (1/2) 

 2 ................... C08-0187-150 .................. Pan Hd Sheet Metal Screw (#10 x 1-1/2) 

 1 ................... C16-0375-010 .................. Eye Bolt (3/8 x 1-inch I.D.) 

 

1 .......................... Parts & Packing List 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



Page 2 of 2 

 

Installation Instructions 
 

1 Secure Ro-Bander at desired height to mounting bracket below applicator using eye bolt, shake proof washer, 

 lock washer and nut.   

 Note: Cover must face opposite the direction of travel. 

 

2 Insert plastic tube through eye bolt, then into Ro-Bander.  Cut off excess tubing. 

 

3 Secure cover in place using the two sheet metal screws. 

 

 

 

 
 

 

 

 

 

 

GDY-09105D-PPL 

December 10, 2013 

Revised From (2/21/12) 

Printed in the USA 


